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(a) What is producar equilibrium?

(b) A firm produces its outpuiusing labor and capital. Its production function given as

Q L0 L ' ' K! 'and Q 4J4. Wage lor an hour is l0 , = and rent 28 /

(03 Marks)

(05 Marks)

(03 Marks)
(Total Marks 20)

(i) Find the level of input a1 vr'hich the firm reaches its producer equilibrium and
interpret youl answer

(08 Marks)
(i0 Find the level total cost where its profit is maximum

(04 Marks)
(iiD Suppose that the wage rate increases by 100%, find the input level at the new

equilibrium point.
(05 Marks)

(Total Marks 20)

(0s)
A toy manufacturer makes two games W and Z .The profit margin on W is 30/=, tle
p.ofit margin on Z ]s 20/:. W takes 6 hours of processing, 6 hours of assembly, and 5

hours ofpackaging. Z takes 3 hours ofprocessing,4 hours ofassembly, and 5 hours of
packaging. If 54 hours are available for processing ,48 hours for assembling ,and 50
hours for packing,

(a) Obtain the optimum level ofout put at which the firm could maximize its profit and
interpret your answer

(12 Mark)
(c) Obtain the profit curve and interpret it.

(c) lnterpret the shadow pdces and slack variables
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